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(1) All Questions are Compulsory.
(2) Each Question Carries 15 Marks. 3 S
(3) Support your Answer with Required W 'knig“Notes

QIA. Match the Column (Any 8) FOSTILEP LSS TSN
A & :
1. Front End Load A
2. Advisory fees
3. Foreign Currency Risk &, 3 Systematxc Rlsk &
4. Purchasing Power Risk ~ * & :"“Prtec Movements 4 3
5. Return on Equity AR SO ff)peratmg E\xpenscs. o
6. Return on Invcstmenty“li‘- S 6 Unéysfematlc Rtslc
7. Efficient frontier ' > 7 Forelgn B@nds
8. Increase in CRR ST 8. __Unlcvered Rano
9. Loss of effi ment CEO LS I 9 ‘*Sales Chargcs )
10. Technical Analysis- \ 10 Markoth;z

Q1B. Fill in thé blanks (any 7) 07

1. If retums Q’FS fall by 8% and lzeturns of L mcrea'_é' by 8% then the value of correlation
betwecn S and ,L would be
2 Under” d’and]e stlck charts

dﬁay‘is@v’i‘eﬁfesenmd by a black or shaded box.
2o £ tow rated bonds to high rated bonds.

a.«-;

3 RNt -1 ratio of frac
' 4._ In hybnd fund"s the e

48 Fmancml Leveragc ;nagmfles?"- L of the company.

promdes ------- and debt funds provide income.

o tradmg refers to.share trading done by the insiders of the company in

.\I'company S sharzc

7. The =-zeums chart. pattem bé either a continuation or reversal pattern.

8. 'Hi gher the quu:ls ratlo better is the ------- solvency of the company.

9. Temary or mmqr trends are ----------- fluctuations of little importance.

10. Portfoho r&tums are the -------- average return of securities in the portfolio.
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Q2 A. Evaluate the performance of following portfolios using the foilﬂwmg mformatron and &

rank them on basis of Sharpe and Treynor’s Ratio. Vi 5w (10) >
" Portfolio Standard Deviation (%) Beta Expected Ratums (%) Half 7o)
P19 '_ ycaﬂy EOCoPAR |

Angad 12 2.00 '_"*«: _i PRI

Hanuman 26 205 ¢ 4 G f E20,63

Surya 14 : ] 60 . " : \\,15 f. g

Shankar 21 . 1 20 - \/ - 17 NS

Ganesh 23 TTTF 59 : 15 T ;
The T bills yield 5% returns half yearly. ~ =~ o ST :

Q2B. Mr Suraj purchased 2500 umts of’ ABC Mutual Fund at a prlce of Rs 3200per umt He
redeemed all the units after the period 6f 12 months w1th 20% mark up cm the' purchase price.
Calculate the net annualized retums 1f clw:dend of 15% was recelved durmg thehold Ing period.

(Face value of share — RSIOOO pcr share) VR LRSSV (05)

Q2 C. Calculate the beta factor of the folIowmg mvestmcnt thh the help of the following

information = - s RGOS W O R G o (08)
Probabi!ity T4 _Reium _(in Sccur:i.ty (_%)_ Iy ;Market Returns (%) T
13D A S N E O e A VS 18
DR o P iy O o 24
2 LR R I S L ) 36
Q2D. Suraj Mutual Fund held iﬁe-:foilowing securities as on 31% March 2018 — (07)
Company Name "Market Value ason3 e March 2018 ( Value | No of Shares held
_ & lpershareinRs) (units)
Kaira R R o e 20,000
Chary & & &0 A kB0 0 S0 30,500
| Meena CR S M460.N 4 20,050
Manju.-" @ T R ORE 5,550

Apart from above mvestments it also had Rs 25,00,000 as cash and Rs 12,50,000 as current
 assets. The total llabihtles amounted to Rs 37,50,000 out of which ratio of external liabilities

-toreserves and surplus was 2:1. Compute the Net Asset Value per unit if the current outstandin g
units are 72500, ¥
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Q.P.Code: 21379

03A. Meena Ltd has 12,50,000 equity shares (Face value Rs 100 per share) outstanding - il
beginning of the financial year 2017, presently selling at 100% premium in the market. Ihe
Board of Directors have recommended dividend @ 10% whereas the capitalization rate for (he

company is 15%

Based on MM approach calculate the market price of the share of the company in case where
dividend is approved by the shareholders and in case where no dividend has been approved and
declared by the company in the annual general meeting.

Since the company wishes to diversify its existing product line in the coming period you as the
financial manager are asked to find out the number of additional shares required to be issued
under both the circumstances ie when dividend is declared and when dividend is not declared.
The cost of diversification amounts to Rs 6.00,00,000 . The company’s current net income
amounts to Rs 3,60,00,000. (15)

OR

()3B. From the following calculate Long term loans and Capital Employed.
Capital Gearing Ratio — 0.50
Debt equity ratio — 0.50
Equity Share Capital —Rs 24,00.000
9% Preference Share Capital — Rs 6.00,000 (08)

Q3C. Kadam Ltd has issued a debenture with face value Rs.1000/- bearing interest 12% p.a.
maturing after 6 years at par. The expected rate of return of an investor is 15%. Should the

investor buy the debenture if the current market price of debenture is Rs.1300? (07)

Q4A. Kiara an investor wishes to invest in either of the bonds, you as financial planner are

asked to advise her which bond should be purchased and why? Support your answer with

calculations based on YTM method. (08)
=il Bond e Coupon Rate(%) Maturity Price per bond ( Rs)
(years)
SUN 15 10 950
I MOON 17 12 850

The bonds are expected to be redeemed at 20% premium. (Face value Rs 1000)
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